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Autor
+ID
+Name
+Körperschaft
+Signatur

+writeDB()
+readDB()
+searchAutor()
+createSig()

Koerperschaft
+ID
+Name
+Ort

+writeDB()
+readDB()
+searchKoerperschaft()

Verlag
+ID
+Name
+Ort

+writeDB()
+readDB()
+serachVerlag()

Serien
+ID
+Titel

+writeDB()
+readDB()
+serachSerie()

Litwerk
+datenID
+autor: list(Autor)
+koerperschaft: list(Koerperschaft)
+typ
+serie: Serie
+titel
+ISBN1
+ISBN2
+ISSN1
+ISSN2
+verlag: Verlag
+herausgeber: Autor
+signatur
+erschjahr
+sprache
+felder: array[MAB−ID] = werte

+readDB()
+writeDB()
+generateID()
+createSig()
+search()

Exemplar
+lokID
+signatur
+standort
+bibnummer
+besteller
+kommentar
+Lieferant
+status
+stammID

+writeDB()
+readDB()
+checkSig()
+getMaxInvNr()
+createSig()
+searchExemplar()

hat

hat 1

hat

hat

hat

Zeitschrift
+hefteingang: array[Datum] = heftangaben
+fehlendehefte: array[Datum] = heftangaben
+bestand
+bestelldatum

+store()
+load()
+heftNeu()
+heftFehlt()
+updateBestand()
+getFehlend()

Bestellung
+bestID
+exemplarID
+bestelldatum
+lieferdatum
+mahndatum

+writeDB()
+readDB()
+searchBestellung()
+getBestellung()

hat
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